
   

   



x −
2y − x
23 − x

= 20 −
59 − 2x

2
y +

y − 3
x −18

= 30 −
73 − 3y

3

x =  \ {23} ;  y = x =  \ {18} ;  y = 

x −
2y − x
23 − x

= 20 −
59 − 2x

2
   ⋅23 − x( )⋅2

x⋅23 − x( )⋅2 − 2y − x( )⋅2 = 20⋅23 − x( ) ⋅2 − 59 − 2x( )⋅23 − x( )
46x − 2x2 − 4y + 2x = 920 − 40x − 1357− 59x − 46x + 2x2( )
48x − 2x2 − 4y = 920 − 40x −1357+105x − 2x2

48x − 2x2 − 4y = −437 + 65x − 2x2    − 65x + 2x2

−17x − 4y = −437    ⋅−1( ) ⇔ 17x + 4y = 437

y +
y − 3
x −18

= 30 −
73 − 3y

3
   ⋅ x − 18( ) ⋅3

y⋅ x − 18( ) ⋅3 + y − 3( )⋅3 = 30⋅x −18( ) ⋅3 − 73 − 3y( )⋅ x −18( )
3xy − 54y + 3y − 9 = 90x −1620− 73x −1314− 3xy + 54y( )
3xy − 54y + 3y − 9 = 90x −1620− 73x +1314+ 3xy − 54y    + 54y − 3xy
+3y − 9 = 17x − 306    −17x + 9

−17x + 3y = −297    ⋅−1( ) ⇔ 17x − 3y = 297

7y = 140  ⇔  y = 20
17x + 80 = 437  ⇔  17x = 357  ⇔  x = 21

⇒  = {(21 ; 20)}

21−
2⋅20 − 21
23 − 21

=
42
2

−
19
2

=
23
2

20 −
59 − 2 ⋅21

2
=

40
2

−
17
2

=
23
2

20 +
20 − 3
21− 18

=
60
3

+
17
3

=
77
3

30 −
73 − 3⋅20

3
=

90
3

−
13
3

=
77
3

5 x + y( ) − 4 x − y( ) = 13 x +1( ) y − 1( ) = x −1( ) y +1( ) + x + y + 2

6 2x + 3y( ) − 7 2x − 3y( ) = 31 x − 2( ) y +1( ) = x +1( ) y − 2( ) − x − y − 3

3x−8
5 + 3 2

3 − 2y+6
3 = 5x+9

7
8y+7
10 + 6x−3y

y−8 = 4 + 4y−9
5

4x+1
5 − 2 + 3y +9

4 = 3x+2y
4

6x+9
2 + 3x+5y

2x−3 = 3x −18 1
2


